
Answer on Question #50110 – Chemistry – Physical Chemistry 
30 cm3 0.05 M Ca(OH)2 and 100 cm3 0.1 M CH3COOH are mixed. What is the pH of this buffer
solution? Ka of CH3COOH is 1.8×10-5.
Solution: 
CH3COOH → H+ + CH3COO-

Ca(OH)2+ 2CH3COOH → Ca(CH3COO)2 + 2H2O 
Ca(CH3COO)2 → Ca2+ + 2CH3COO-
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Lets [H+]=x, then [CH3COOH]=c0-x
[CH3COO-]=x+y, y is part of anions from salt.

 
       

    
                 

                                    
                               

Acid reacts with base, 2×0.0015 moles spends: 

   
             

        
 

     

    
            

  
        

        
 

     

    
            

So, 
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[H+]=0.00004189 M 
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Answer: 
pH=4.38 
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